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ÍÛæ̃ Û¶ÛÛ   : (1) ›÷¾Û¨Ûà ¼ÛÛ›ä÷¶ÛÛ …×ïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä̈ Û þùÉÛÛÙÈÛé ™öé. 

Instructions :  Right digits indicate marks of the question. 

    (2) þùÁéõïõ ¸ÛóÊ¶Û¶ÛÛé ¾Ûä°ùÛÍÛÁ ›÷ÈÛÛ¼Û …Û¸ÛÛé.  

     Write answer with points. 

 
1. (A) ïõÅÛ¾Û 208 Ðéü¥øÇ ¾Ûæ¦øà¾ÛÛ×¬Ûà ÈýÛÛ›÷ …Û¸ÛÈÛÛ …×•Ûé 1956¶ÛÛ ï×õ¸Û¶Ûà µÛÛÁõÛ¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé ›÷¨ÛÛÈÛÛé. 7 

  Inform provisions of Companies Act, 1956 about interest paid out of capital under 

Section 208.  

…¬ÛÈÛÛ/OR 

  ÉÛéÁõ ›÷¸©Ûà …×•Ûé …Ûé¦øà¤øÁõ¶Ûà ºõÁõ›Ûé ›÷¨ÛÛÈÛÛé. 
  State the duties of an Auditor with regards to forfeiture of shares. 

 

 (B) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé) 4 

   Write short notes : (any two)  

  (i) ¶ÛÈÛä× …Ûé¦øà¤ø ÉÛÄõ ïõÁõ©Ûà ÈÛ”Û©Ûé µýÛÛ¶Û¾ÛÛ× ÁõÛ”ÛÈÛÛ¶ÛÛ× ¾Ûä°ùÛ…Ûé. 
    Points to be considered before commencement of new audit. 

  (ii) ÈÛ˜Û•ÛÛÇÛ¶Ûä× Ü¦øÜÈÛ¦ø¶¦ø 
    Interim dividend. 

  (iii) ¸ÛóàÜ¾ÛýÛ¾Û¬Ûà ÉÛéÁõ ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ …×•Ûé …Ûé¦øà¤øÁõ¶Ûà ºõÁõ›Ûé ›÷¨ÛÛÈÛÛé. 
    Duties of an auditor with regards to shares issued at premium. 

 

 (C) ï×õ¸Û¶Ûà …Ûé¦øà¤øÁõ ©ÛÁõàïéõ ©Û¾ÛÛÁõÛé …Ü½Û¸ÛóÛýÛ …Û¸ÛÛé : (•Û¾Ûé ©Ûé ªÛ¨Û) 3 

  Give your opinion as an Auditor : (any three)  

  (i) ï×õ¸Û¶Ûà ¶ÛÜÐü ¾Û×•ÛÛÈÛéÅÛ Ü¦øÜÈÛ¦ø¶¦ø ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûé ÅÛˆ ›÷ÈÛÛ ¾ÛÛ×•Ûé ™öé. 
    Company intend to transfer unpaid dividend to profit and loss accounts. 

  (ii) ` 15,000¶ÛÛ ÈÛÛŠ˜ÛÁõ ¸ÛÁõ ïõÛé.…Ûȩ́ ÛÁéõÜ¤øÈÛ ÍÛÛéÍÛÛýÛ¤øà ³ùÛÁõÛ ÁéõÈÛ¶ýÛä Í¤éø¾¸Û ÅÛ•ÛÛ¦éøÅÛ ¶Û¬Ûà. 
    A Co-operative Society has not used revenue stamp on ` 15,000 voucher. 
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  (iii) ï×õ¸Û¶Ûà ›ÛÐéüÁõÛ©Û ¡ä×ö¼ÛéÉÛ ”Û˜ÛÙ …éïõ ›÷ ÈÛÌÛÙ¾ÛÛ× ¾ÛÛ×¦øà ÈÛÛÇÈÛÛ ¾ÛÛ×•Ûé ™öé. 

   Company intend to write off advertisement campaign expenses in one year 

only. 

  (iv) ï×õ¸Û¶Ûà ˆÜîÈÛ¤øà ÉÛéÁõ ¸ÛÁõ 2.75 ¤øïõÛ ¼ÛÛ×ÐéüµÛÁõà ïõÜ¾ÛÉÛ¶Û …Û¸Ûà ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ ¾ÛÛ×•Ûé ™öé. 

   Company intend to issue equity shares by giving 2.75% underwriting 

commission. 

 

2. (A) …Ûé¦øà¤øÁõ¶ÛÛ …ÐéüÈÛÛÅÛ¶Ûä× ¾ÛÐü«ÈÛ ›÷¨ÛÛÈÛÛé. 7 

  Discuss importance of audit report.  

    …¬ÛÈÛÛ/OR 

  …Ûé¦øà¤øÁõ¶ÛÛ …ÐéüÈÛÛÅÛ …¶Ûé …Ûé¦øà¤ø ¸Ûó¾ÛÛ¨Û¸ÛªÛ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ›÷¨ÛÛÈÛÛé. 

  Distinguish between Audit report and Audit certificate. 

 

 (B) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé) 4  

  Write short note : (any two)  

  (i) ÍÛÛÁõÛ …Ûé¦øà¤ø …ÐéüÈÛÛÅÛ¶ÛÛ ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé. 

   State the characteristics of a good audit report. 

  (ii) ÍÛÛ˜ÛÛ …¶Ûé ÈÛÛ›÷¼Ûà¸Û¨ÛÛ¶ÛÛé …¬ÛÙ. 

   The concept of “True and fair”. 

  (iii) ”ÛÛ¾ÛàÈÛÛÇÛé …Ûé¦øà¤ø …ÐéüÈÛÛÅÛ¶ÛÛé ¶Û¾Ûæ¶ÛÛé. 

   Prepare qualified report. 

 (C) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (•Û¾Ûé ©Ûé ªÛ¨Û) 3 

  Give short answer : (any three)  

  (i) ï×õ¸Û¶Ûà …Ûé¦øà¤øÁéõ ¸ÛÛé©ÛÛ¶ÛÛé …ÐéüÈÛÛÅÛ ïõýÛÛ ïõÛýÛþùÛ ¾Ûä›÷¼Û ©ÛíéýÛÛÁõ ïõÁõÈÛÛé ›Ûé̂ …é ? 

   To which Act is the auditor expected to address his report ? 

(ii) …Ûé¦øà¤øÁõ¶Ûä× ¸Ûó¾ÛÛ¨Û¸ÛªÛ ïõýÛÛ ¸Û“Û¶Ûé Š°éùÉÛà¶Ûé …Û¸ÛÈÛÛ¶Ûä× ÐüÛéýÛ ™öé ? 

   To which parties is the auditor expected to address his certificate. 

  (iii) …Ûé¦øà¤øÁéõ ”ÛÛ¾ÛàÈÛÛÇÛé …ÐéüÈÛÛÅÛ …Û¸ýÛÛé ÐüÛéýÛ ©ÛÛé ¼ÛÛé¦Ùø …Ûéºõ Ü¦øÁéõî¤øÍÛë ÉÛä× ïõÁõÈÛä× ¸Û¦éø ? 

   What should be done a board of directors if auditor has given a qualified 

report ? 

  (iv) …Ûé¦øà¤ø¶ÛÛ× …ÐéüÈÛÛÅÛ¶Ûà ©ÛÛÁõà”Û ïõˆ ÐüÛéÈÛà ›Ûé̂ …é ? 

   Which date is to be mentioned in audit report ? 
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3. (A) ÁõÛ¾ÛÅÛàÅÛÛ ï×õ¸Û¶Ûà ÜÅÛ. ¶Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà 2013-14¶ÛÛ ÈÛÌÛÙ¶ÛÛ ÈÛÐêü˜Û¨Ûà¸ÛÛªÛ ¶ÛºõÛé ¶Û‘õà 
ïõÁõÛé :    7 

ÈÛÌÛÙ 
–ÛÍÛÛÁõÛ ¸ÛÐéüÅÛÛ¶ÛÛé ¶ÛºõÛé ïéõ 

¶ÛäïõÍÛÛ¶Û (`̀̀̀) 

ï×õ¸Û¶ÛàµÛÛÁõÛ ¸Ûó¾ÛÛ¨Ûé                 
–ÛÍÛÛÁõÛé (`̀̀̀) 

…ÍÛ¾ÛÛÜÈÛÌ¤ø  
–ÛÍÛÛÁõÛé (`̀̀̀) 

2011-12 – 90,000 30,000   7,500 

2012-13 + 30,000 45,000 12,000 

2013-14 + 3,15,000 75,000 – 
 

  From the following information of  Ramleela Company Ltd., determine its divisible 

profit of the year 2013-14.  

Year 
Profit or Loss before 

depreciation (`̀̀̀) 

Depreciation 

prescribed as per 

Companies Act (`̀̀̀) 

Unabsorbed 

depreciation 

(`̀̀̀) 

2011-12 – 90,000 30,000   7,500 

2012-13 + 30,000 45,000 12,000 

2013-14 + 3,15,000 75,000 – 

…¬ÛÈÛÛ/OR 

  ÈÛÐêü˜Û¨Ûà¸ÛÛªÛ ¶ÛºõÛ …×•Ûé ï×õ¸Û¶Ûà …Ûé¦øà¤øÁõ¶Ûà ºõÁõ›Ûé ›÷¨ÛÛÈÛÛé.  

  State the duties of an auditors regarding divisible profit. 

 

 (B) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé) 4 

  Write short notes : (any two)  

  (i) ÈÛÐêü˜Û¨Ûà¸ÛÛªÛ ¶ÛºõÛ¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 

   Discuss briefly factors affecting to divisible profit. 

  (ii) Ü¦øÜÈÛ¦ø¶¦ø¶Ûà ÈÛÐêü˜Û¨Ûà …×•Ûé ï×õ¸Û¶ÛàµÛÛÁõÛ¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé ›÷¨ÛÛÈÛÛé. 

   Explain the provisions of the Companies Act regarding distribution of 

dividend. 

  (iii) ¾Ûæ¦øà ”ÛÛé¤ø 

   Capital loss. 

 

 (C) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (•Û¾Ûé ©Ûé ªÛ¨Û) 3 
  Give answer in short : (any three)  

  (i) ›÷é ¶ÛºõÛé ïõÛýÛþéùÍÛÁõ Áõà©Ûé ÉÛéÁõÐüÛéÅ¦øÍÛÙ ÈÛ˜˜Ûé Ü¦øÜÈÛ¦ø¶¦ø ©ÛÁõàïéõ ÈÛÐêü˜Ûà ÉÛïõÛýÛ ™öé. ©Ûé ¶ÛºõÛ¶Ûé ÉÛä× 
ïõÐéü ™öé ?  

   The profit that is to be distributed as dividend among shareholders is called  

  (ii) ¾Ûæ¦øà¾ÛÛ×¬Ûà ÈýÛÛ›÷ …Û¸ÛÈÛÛ¶ÛÛé þùÁõ ÈÛµÛä¾ÛÛ× ÈÛµÛä ïõýÛÛé ÁõÐéüÉÛé ? 
   Which rate is advisable where interest paid out of capital ? 
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  (iii) ¼ÛÛ×ÐéüµÛÁõà ïõÜ¾ÛÉÛ¶Û¶ÛÛé þùÁõ ÈÛµÛä¾ÛÛ× ÈÛµÛä ÉÛéÁõ Š¸ÛÁõ ïõýÛÛé ÁõÐéüÉÛé ? 

   Maximum rate of underwriting commission on share is ? 

  (iv) Ü¦øÜÈÛ¦ø¶¦ø ›ÛÐéüÁõ ïõýÛÛÙ ¸Û™öà ïéõ¤øÅÛÛ ÍÛ¾ÛýÛ¾ÛÛ× Ü¦øÜÈÛ¦ø¶¦ø ÈÛÛéÁõ¶¤ø ÍÛ½ýÛÛé¶Ûé ¸ÛÛéÍ¤ø ïõÁõà þéùÈÛÛ ¸Û¦éø 
™öé ? 

   Dividend should be paid to the members within how much time, after the 

dividend declared ? 

 

4. (A) þù•ÛÛé ïéõ ™öé©ÛÁõ¸Ûá¦øà ¬Ûˆ ÐüÛéýÛ ©ýÛÛÁéõ …Ûé¦øà¤øÁõ ©ÛÁõàïéõ ©Û¾Ûé ÉÛä× …¶ÈÛéÌÛ¨Û ïõÛýÛÙÈÛÛÐüà …¸Û¶ÛÛÈÛÉÛÛé. 7 

  How will you investigate as an auditor when fraud is suspected in a business ?  

    …¬ÛÈÛÛ/OR 

 ¼Ûêïõ¶ÛÛé …Ûé¦øà¤ø ïõÛýÛÙ’õ¾Û ©ÛíéýÛÛÁõ ïõÁõÛé. 

 Prepare an Audit programme of a Bank. 

 

 (B) ¶Ûà˜Ûé¶ÛÛ¶Ûä× …¶ÈÛéÌÛ¨Û ïéõÈÛà Áõà©Ûé ïõÁõÉÛÛé ? 4 

  –Û¤ø©ÛÛ ›÷©ÛÛ ¶ÛºõÛÈÛÛÇà ¸Ûé§øà¶Ûä× …¶ÈÛéÌÛ¨Û …¬ÛÈÛÛ ÅÛÛé¶Û ¾Û×›æ÷Áõ ïõÁõÈÛÛ ¾ÛÛ×•Û©Ûà ¼Ûêïõ ³ùÛÁõÛ …¶ÈÛéÌÛ¨Û. 

  How will you investigate the following ?  

  The profit is declining constantly or on behalf of a bank who intends to lend money 

to the business. 

…¬ÛÈÛÛ/OR 

  …Ûé¦øà¤ø ïõÛýÛÙ’õ¾Û –Û¦ø©ÛÛ× ¸ÛÐéüÅÛÛ ïõˆ ¾ÛÛÜÐü©Ûà ¾ÛéÇÈÛÈÛà ›Ûé̂ …é ? 

  What points should you consider while preparing an audit programme ? 

 (C) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé) 2 

  Give answer in short : (any two)  

  (i) þù•ÛÛ¶Ûà ÉÛ×ïõÛ ÐüÛéýÛ ©ýÛÛÁéõ …¶ÈÛéÌÛ¨Û¾ÛÛ× Ü¦øÁéõî¤øÍÛÙ¶Ûà ÅÛÛýÛïõÛ©Û ÉÛä× ÐüÛéÈÛà ›Ûé̂ …é ? 

   What are the qualifications of directors when investigation during fraud is 

suspected in a business ? 

  (ii) ïõÛ˜ÛÛ ¶ÛºõÛ¾ÛÛ× ¶ÛÛêµÛ¸ÛÛªÛ ÈÛµÛÛÁõÛé ïõýÛÛ ïõÛÁõ¨ÛÛé¶Ûé ÅÛàµÛé ¬ÛÛýÛ ™öé ? 

   Due to which factors gross profit are increased ? 

  (iii) …Ûé¦øà¤ø ïõÛýÛÙ’õ¾Û ©ÛíéýÛÛÁõ ïõÁõ©ÛÛ ¸ÛÐéüÅÛÛ× ÐüÁõàºõÛé ³ùÛÁõÛ …¸Û¶ÛÛÈÛÛýÛéÅÛ ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û …×•Ûé 
¾ÛÛÜÐü©Ûà ¾ÛéÇÈÛÈÛà ¸Û¦éø ™öé. ÉÛä× …Û ÜÈÛµÛÛ¶Û ÍÛÛ˜Ûä× ™öé ? 

   Before preparing audit programme rival institute accounting information is 

required, is it true ? 

  (iv) …Ûé¦øà¤ø ïõÛýÛÙ’õ¾Û ©ÛíéýÛÛÁõ ïõÁõ©ÛÛ ¸ÛÐéüÅÛÛ× ÍÛ×Í¬ÛÛ¶Ûä× ¼Û×µÛÛÁõ¨Û …¶Ûé Ü¶ÛýÛ¾ÛÛé ›ÛéÈÛÛ ›Ûé̂ …é ? 

   Before preparing audit programme auditor has to see constitution and rules of 

institution. 
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5. ¼ÛÐäüÜÈÛïõÅ¸Ûà ¸ÛóÊ¶ÛÛé¾ÛÛ× ÍÛÛ˜ÛÛé ›÷ÈÛÛ¼Û ÉÛÛéµÛà¶Ûé ÅÛ”ÛÛé : 15 
 Find correct answer from multiple choice : (MCQ )  

 (1) ï×õ¸Û¶Ûà¶ÛÛ ¾Ûé¾ÛÛéÁéõ¶¦ø¾Û …Ûéºõ …éÍÛÛéÜÍÛ…éÉÛ¶Û¾ÛÛ× ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõˆ ïõÅÛ¾ÛÛé¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ¬Û©ÛÛé ¶Û¬Ûà ? 
  (a) ï×õ¸Û¶Ûà¶ÛÛ ¶ÛÛ¾Û¶Ûà ïõÅÛ¾Û 
  (b) ï×õ¸Û¶Ûà¶Ûà ÁõÜ›÷Í¤ø¦Ùø …ÛéÜºõÍÛ¶Ûä× ÍÛÁõ¶ÛÛ¾Ûä× 
  (c) ÉÛéÁõÐüÛéÅ¦øÍÛÙ¶ÛÛ Ðü‘õÛé 
  (d) ÍÛ½ýÛÛé¶ÛÛ ›÷ÈÛÛ¼ÛþùÛÁõà …×•Ûé¶Ûà ïõÅÛ¾Û  
  Which of the following is not included in the clause of Memorandum of     

Association ? 

  (a) Name clause of the company 

  (b) Address of registered office of the company 

  (c) Rights of shareholders 

  (d) Clause of liabilities of members 
 

 (2) ï×õ¸Û¶Ûà¶ÛÛ …Ûé¦øà¤øÁéõ ¸ÛÛé©ÛÛ¶ÛÛé …ÐéüÈÛÛÅÛ ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛÛ ¸Û“ÛïõÛÁõ¶Ûé Š°éùÉÛà¶Ûé ÅÛ”ÛÈÛÛ¶ÛÛé ÐüÛéýÛ ™öé ? 

  (a) ï×õ¸Û¶Ûà ÍÛé’éõ¤øÁõà¶Ûé 
  (b) ¾ÛµýÛÍ¬Û ÍÛÁõïõÛÁõ¶Ûé 
  (c) ï×õ¸Û¶Ûà¶ÛÛ ÉÛéÁõÐüÛéÅ¦øÍÛÙ¶Ûé 
  (d) ¼ÛÛé¦Ùø …Ûéºõ Ü¦øÁéõî¤øÍÛÙ¶Ûé 
  To which of the following parties is the company auditor expected to address ? 

  (a) Company Secretary 

  (b) Central Government 

  (c) Shareholders of the company 

  (d) Board of Directors of the company 
 

 (3) …éïõ ï×õ¸Û¶Ûà¶ÛÛé ˜ÛÛÅÛä ÈÛÌÛÙ¶ÛÛé ¶ÛºõÛé ` 6,00,000 ™öé ›Ûé ï×õ¸Û¶Ûà 13.5% ¶ÛÛ þùÁéõ Ü¦øÜÈÛ¦ø¶¦ø ÈÛÐêü˜ÛÈÛÛ 
¾ÛÛ×•Ûé ©ÛÛé ï×õ¸Û¶Ûà µÛÛÁõÛ ¾Ûä›÷¼Û ÍÛÛ¾ÛÛ¶ýÛ …¶ÛÛ¾Û©Û ”ÛÛ©Ûé ÅÛˆ ›÷ÈÛÛ¶Ûà Áõïõ¾Û ? 

  Current year profit of a company is ` 6,00,000, calculate the amount required to be 

transferred to general reserve. If company decides to declare dividend on share 

capital at the rate of 13.5%. 

  (a) ` 60,000 (b) ` 1,00,000 

  (c) ` 30,000 (d) ` 45,000 
 

 (4) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛä× ÜÈÛµÛÛ¶Û ÍÛÛ˜Ûä× ¶Û¬Ûà ? (ÈÛÐêü˜Û¨Ûà¸ÛÛªÛ ¶ÛºõÛ¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ×) 
  (a) ïõÛýÛ¾Ûà Ü¾ÛÅÛïõ©ÛÛé ¸ÛÁõ –ÛÍÛÛÁõÛ¶Ûà ›Ûé•ÛÈÛÛˆ ïõýÛÛÙ ÜÈÛ¶ÛÛ Ü¦øÜÈÛ¦ø¶¦ø ÈÛÐêü˜Ûà ÉÛïõÛýÛ ¶ÛÐüá. 
  (b) ÈÛ˜Û•ÛÛÇÛ¶Ûä× Ü¦øÜÈÛ¦ø¶¦ø ÍÛ×̃ ÛÛÅÛïõ ¾Û×¦øÇ ›ÛÐéüÁõ ïõÁõà ÉÛïéõ ™öé. 
  (c) ¶ÛÛêµÛ¨Ûà ¸ÛÐéüÅÛÛ¶ÛÛ ¶ÛºõÛ¾ÛÛ×¬Ûà Ü¦øÜÈÛ¦ø¶¦ø ÈÛÐêü˜Ûà ÉÛïõÛýÛ ¶ÛÐüá. 
  (d) ÍÛ×̃ ÛÛÅÛïõ ¾Û×¦øÇé ½ÛÅÛÛ¾Û¨Û ïõÁéõÅÛ Ü¦øÜÈÛ¦ø¶¦ø¶ÛÛ× þùÁõ¾ÛÛ× ÈÛµÛÛÁõÛé ïõÁõÈÛÛ¶Ûà ÍÛ«ÛÛ ÍÛÛ¾ÛÛ¶ýÛ ÍÛ½ÛÛ¾ÛÛ× 

ÍÛ½ÛÛÍÛþùÛé¶Ûé ™öé. 
  Which of the following statement is not correct for the divisible profit ? 

  (a) No dividend can be declared without providing for depreciation on fixed 

assets. 

  (b) The Board of Directors can declare interim dividend. 

  (c) Dividend cannot be declared from the profit prior to the incorporation. 

  (d) The members of the company have the power in General Meeting to raise the 

rate of dividend being declared by the Board of Directors. 
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 (5) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶ÛÛé ¸Ûíéïõà ïõýÛä× ÜÈÛµÛÛ¶Û ÍÛÛ˜Ûä× ™öé ? 

  (a) ½ÛÛÁõ©Û¶ÛÛ 1956 ¶ÛÛ ï×õ¸Û¶ÛàµÛÛÁõÛ Ðéü¥øÇ …¶ÈÛéÌÛ¨Û ºõÁõÜ›÷ýÛÛ©Û ™öé. 

  (b) …¶ÈÛéÌÛ¨Û Ð×ü¾ÛéÉÛÛ SEBI …é ¼ÛÐüÛÁõ ¸ÛÛ¦éøÅÛà ÍÛæ̃ Û¶ÛÛ ¾Ûä›÷¼Û ›÷ ïõÁõÈÛÛ¶Ûä× ÐüÛéýÛ ™öé. 

  (c) …¶ÈÛéÌÛ¨Û …é ïõÛé̂  ÜÈÛÜÉÛÌ¤ø Ðéü©Ûä ¾ÛÛ¤éø ÜÐüÍÛÛ¼Û¶Ûà ©Û¸ÛÛÍÛ ™öé. 

  (d) …ÛéÜ¦ø¤ø …ÐéüÈÛÛÅÛ¾ÛÛ× …¶ÈÛéÌÛ¨Û¶Ûà ÜÈÛ•Û©ÛÛé¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ›÷ÄõÁõà ™öé. 

  Which of the following statement is correct ? 

  (a) Investigation is compulsory under the Companies Act, 1956. 

  (b) The investigation is always carried out as per the instructions issued by SEBI. 

  (c) The terms investigation implies an examination of accounts and record for 

some special purpose. 

  (d) Audit report must incorporate the details of the investigation. 

 

 (6) …ÛéÜ¦ø¤ø ïõÛýÛÙ’õ¾Û ©ÛíéýÛÛÁõ ïõÁõ©ÛÛ ¸ÛÐéüÅÛÛ× ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõˆ ¼ÛÛ¼Û©Û ¾ÛéÇÈÛÈÛà ›÷ÄõÁõà ¶Û¬Ûà ? 

  (a) …Û×©ÛÜÁõïõ …×ïäõÉÛ¶Ûà ¸Û±ùÜ©Û 

  (b) …•ÛÛŠ¶ÛÛ …Ûé¦øà¤øÁõ¶ÛÛé …ÐéüÈÛÛÅÛ 

  (c) ÐüÁõàºõÛé ³ùÛÁõÛ …¸Û¶ÛÛÈÛÛýÛéÅÛ ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û 

  (d) µÛ×µÛÛ¶Ûà ïéõ ÍÛ×Í¬ÛÛ¶Ûà ¤éøïõÜ¶ÛïõÅÛ ÜÈÛ•Û©ÛÛé 

  Which of the following details is not required to be obtained before preparing an 

Audit programme ? 

  (a) System of internal check 

  (b) Report of the previous auditor 

  (c) Accounting system adopted by competitors 

  (d) Technical details of business or institution 

 

 (7) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛÛ ÍÛ×›Ûé•ÛÛé¾ÛÛ× ”ÛÛ¾ÛàÈÛÛÇÛé …ÐéüÈÛÛÅÛ …Û¸Ûà ÉÛïõÛýÛ ? 

  (a) ï×õ¸Û¶Ûà…é ï×õ¸Û¶ÛàµÛÛÁõÛ ¾Ûä›÷¼Û ÜÐüÍÛÛ¼Û¶ÛÛ ˜ÛÛȩ́ Û¦øÛ ÁõÛ”ýÛÛ ÐüÛéýÛ. 

  (b) ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û”ÛÛ©Ûä× …¶Ûé ¸ÛÛïä×õ ÍÛÁõÈÛíéýÛä× ïõÛýÛþùÛ ¾Ûä›÷¼Û ¼Û¶ÛÛÈÛéÅÛä× ÐüÛéýÛ. 

  (c) ï×õ¸Û¶ÛàµÛÛÁõÛ¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé¶Ûä× ŠÅÅÛ×–Û¶Û 

  (d) …Ûé¦øà¤øá•Û¶ÛÛ ÍÈÛàïèõ©Û µÛÛéÁõ¨ÛÛé¶Ûä× ¸ÛÛÅÛ¶Û 

  To which circumstances qualified report can be given ? 

  (a) Where the books of accounts are maintained as required by company Law. 

  (b) Profit & Loss accounts and Balance Sheet prepared according to Law. 

  (c) Where the books of accounts are not maintained as required by Law. 

  (d) Where the books of Accounts could be carried on in accordance with 

principles of Auditing. 



LI-101 7 P.T.O.  

 (8) ›÷é¾ÛÛ× þù•ÛÛ¶Ûà ÉÛ×ïõÛ ÐüÛéýÛ ©Ûé …×•Ûé¶ÛÛ …¶ÈÛéÌÛ¨Û¾ÛÛ× ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõˆ ¼ÛÛ¼Û©Û µýÛÛ¶Û¾ÛÛ× ÅÛéÈÛÛ¶Ûà ÐüÛé©Ûà 
¶Û¬Ûà ? 

  (a) ïõýÛÛ ¸ÛóïõÛÁõ¶ÛÛ þù•ÛÛ¶Ûà ÉÛ×ïõÛ ™öé. 

  (b) ïéõ¤øÅÛà ¾Ûäþù©Û ¾ÛÛ¤éø …¶ÈÛéÌÛ¨Û ïõÁõÈÛÛ¶Ûä× ™öé. 

  (c) ï×õ¸Û¶Ûà¶ÛÛ ¦øàÁéõî¤øÁõÛé¶Ûà ÅÛÛýÛïõÛ©Û 

  (d) ÁõÛéïõ¦ø¶Ûà Š˜ÛÛ¸Û©Û¶Ûà ©Û¸ÛÛÍÛ ïõÁõÈÛà. 
  Which one of the following is not required to be considered for “Investigation in 

case of suspected fraud ?” 

  (a) The nature of fraud suspected 

  (b) The period of investigation to be covered 

  (c) Qualification of the Directors of the company 

  (d) Embezzlement of cash to be examined 

 

 (9) ¶ÛÐüá ˜ÛæïõÈÛÛýÛéÅÛ Ü¦øÜÈÛ¦ø¶¦ø, ©Ûé ›ÛÐéüÁõ ïõýÛÛÙ¶ÛÛ ïéõ¤øÅÛÛ ÜþùÈÛÍÛ ¸Û™öà, ©Ûé …×•Ûé¶ÛÛ ”ÛÛÍÛ ¶ÛÐüá ˜ÛæïõÈÛÛýÛéÅÛ 
Ü¦ÜÈÛ¦ø¶¦ø¶ÛÛ ”ÛÛ©ÛÛ¾ÛÛ× ›÷¾ÛÛ ïõÁõÛÈÛà þéùÈÛÛ¶Ûä× ÁõÐéüÉÛé ? 

  (a) ÍÛÛˆ¥ø ÜþùÈÛÍÛ (b) ¼Ûé©ÛÛÅÛàÍÛ ÜþùÈÛÍÛ 

  (c) ªÛàÍÛ ÜþùÈÛÍÛ (d) ˜ÛÛÅÛàÍÛ ÜþùÈÛÍÛ 
  Unpaid dividend should be transferred to a special unpaid dividend account after 

days of declaration of dividend ? 

  (a) Sixty days (b) Fourty two days 

  (c) Thirty days (d) Fourty days 

 

 (10) ÈÛ¤øÛÈÛ¬Ûà ÉÛéÁõ ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ¶Ûà ïõÛýÛþùÛïõàýÛ ›Ûé•ÛÈÛÛˆ …×•Ûé ¶Ûà˜Ûé …Û¸ÛéÅÛ ›Ûé•ÛÈÛÛˆ…Ûé ¸Ûíéïõà ïõˆ 
›Ûé•ÛÈÛÛˆ ïõÛýÛþùÛ¾ÛÛ× ¶Û¬Ûà ? 

  (a) ÈÛ¤øÛÈÛ¶ÛÛé ÈÛµÛä¾ÛÛ× ÈÛµÛä þùÁõ 10% ÐüÛé̂  ÉÛïéõ. 

  (b) ïÛä×. ¶Ûà ÍÛÛ¾ÛÛ¶ýÛ ÍÛ½ÛÛ¾ÛÛ× ÈÛ¤øÛÈÛ¬Ûà ÉÛéÁõ ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ¶ÛÛé ¥øÁõÛÈÛ ¬ÛýÛÛé ÐüÛéÈÛÛé ›Ûé̂ …é. 

  (c) ©Ûé …×•Ûé ï×õ¸Û¶Ûà ÅÛÛé ¼ÛÛé¦Ùø¶Ûà ¾Û×›æ÷Áõà ¾ÛéÇÈÛÈÛà ›Ûé̂ …é. 

  (d) ï×õ¸Û¶Ûà¶ÛÛé µÛ×µÛÛé ÉÛÄõ ïõÁõÈÛÛ¶Ûä× ¸Ûó¾ÛÛ¨Û¸ÛªÛ ¾ÛÆýÛÛ¶Ûé …Ûé™öÛ¾ÛÛ× …Ûé™ä×ö …éïõ ÈÛÌÛÙ ¬ÛýÛä× ÐüÛéÈÛä× ›Ûé̂ …é. 
  Of legal provision of issuing shares at a discount, which of the following is not 

included ? 

  (a) The maximum rate of discount should be 10%. 

  (b) The resolution must be passed in the General Meeting of the company. 

  (c) For issuing shares at a discount, the approval of Company Law Board must 

be obtained. 

  (d) At least one year must have passed, since the company commenced business. 

 

____________ 
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